AT 3
4. (a)
(b)
(c)
(d)
(e)
5. (a)
(b)

(c)
(d
6. (a)
(b)
(c)
(d)
(e)
7. (a)
(b)
(c)
8. (a
(b)

(c)
9. (a)
(b)

MgCl,
CaO
Cu(NO,),
AICI,
CaCo,

N\~ Y
cheRIEH, HlrdlslH

BIESISH, SHA

qifeay, TRgSH, Hhie- aul ATFHreH

Trofyrm, oWl qer SRS
26 g

256 g

124 g

36.5¢g

63 g

14 g

108 g

1260 g

0.375 Hid
1.11 9

0.5 Al

32¢g
9.0¢g

10. 3.76 x 102 377
11. 6.022 x 102 3T

T 4

10. 80.006

11, $X=90% ., $x=10%
12. GASHdl = 1, T 61 W Em 2l
13. SHM G&AT: X =12, Y=14, 3FI gaefe 2l

2019-2020



14.
15.
16.
17.
18.

@ F (b) F () T d F
@ v (b) x () x (d x
(@) x (b) x © v (@ x
(@) x (b) v (c) x (@ x
(@) x (b) x (c) x @ v

T 8

(a) T =2200 m; fo®emT™ = 200 m.
(@) Sd =Tl = 3 IMT=2.00m s

2.
b) 3Ed Tel=1.90ms ; 3Ed IM=0.952 ms |
3. 9d Ii=24kmh’
T HI T 3 =96 m
7. AM=20ms :TT=25s
10, IA=3.07kms
T 9
4. c
5. 2ms? 14000 N
6. -4 N
7. (a) 35000 N
(b) 1.944 m s?
8. 2550 N el &1 7fd & fauda fem #)
9. d
10. 200 N
11. Oms’!
13. 3 kgms*
14. 2.25m; 50 N
15. 10kgms'; 10kgms'; 5/3 m s
16. 500 kg m s'; 800 kg m s; 50 N
18. 40kgm s
STVHTAT
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A2. 240N
A3. 2500 N
A4. 5ms? 2400 kg m s'; 6000 N

I 10

3. 9.8N

12. el W WK 98 N 1 =gHl W 9R 16.3 N &1

13.  SAfrenad =€ 122.5 m 941 el THI 10 s &1

14. faq 97 =19.6 m s |

15. AHTH H9E = 80 m, 7 foRMHA = 0, el T T T U = 160 m |

16. TEETHYT ¢ = 3.56 x 1022 N |

17. 4 s 9991, <l § 80 m =l

18. YR 9T =29.4m s, F9E =44.1m, 4 s TAM 71 TR ¥ 4.9 m W R & a1 4 9
39.2 m T W A

21. U TF S

22. Uohe gd wwm feenfia I 1 SHM 350 g €I

T 11
2. A
4. 2104J
5. A
9. 9x10%J
10. 2000 J, 1000 J
11. =

14. 15kwh (‘gfe")

17. 208333.3J

18. () A
(ii) Y-IcHSR
(iii) RUMTHSR
20. 20 kWh
T 12
7. 17.2m, 0.0172 m
8. 18.55
9. 6000
13. 11.47s

14. 22600 Hz
20. 1450 m s!

244 fazrT
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